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5b She is correct as the corporate order of 60 madeleines 

is greater than the estimated mean, hence including this 

value in the calculation will increase the estimated 

mean. 
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Donovan is incorrect. As n is not an integer, – 42 is not 

a term in the sequence. 
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8a Triangles ABE and DCE.  

Given AB parallel to CD, 

angle ABE = DCE (alternate angles), 

angle BAE = angle CDE (alternate angles), and 

angle AEB = angle DEC.  

Given that there are at least 2 pair of corresponding 

angles in both triangles with different corresponding 

length, triangles ABE and DCE are similar. 
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B1 for each pair of 

corresponding angles 
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M1 corresponding ratios 

 

M1 value of EA 

A1 value of AD 

9a Angle ABD = 180 – 123= 57    

Reason: angles in opposite segment 

B1 value 

B1 reason 

9b Angle CBD = 90 – 57= 33  

Reason: right angled triangle in semi-circle 

B1 value 

B1 reason 

9c Angle CAD = 33   

Reason: angles in same segment 

B1 value 

B1 reason 
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M1 expansion 
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M1 quadratic formula 
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M1 by similarity 
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12b Slant height of water 

= 
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M1 vol of water 
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13b 2nd year/ age 26: 

110
4000 4400

100

37
12 4400 19536

100

 =

 
 = 

 

 

3rd year/ age 27: 

110
4400 4840

100

37
12 4840 21489.60

100

 =

 
 = 

 

 

Total contribution for 3 years 

= 17760 19536 21489.60+ +  

= 58, 785.60 

 

 

 

M1 Calculate 10% annual 

increment 
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Since 17500 58785.60 , Alex has sufficient CPF savings 

to cover the down payment for a 3-room resale flat only. 

Hence, 3 room resale flat is a better choice. 

M1 downpayment (ecf) 
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M1 Area of triangle 
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15a Household A: 350 – 90 = 260 

Household B: 400 – 50 = 350 

Household B has a higher range. 

B1 calculate range 
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15c 325 – 150 

= 175 
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15d Household A is more consistent in the daily usage of water 

as the interquartile range is smaller than that of household B. 
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